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For the purpose of TB size determination

· Calculate an “intermediate” number of information bits  where 
·  is the number of layers, 
·  is the modulation order, obtained from the MCS index
·  is the code rate, obtained from the MCS index
·  is number of resource elements
·  = Y * #PRBs_scheduled 
· When determining  (number of REs) within a slot
· Determine X =  12* #OFDM_symbols_scheduled – Xd – Xoh 
· Xd = #REs_for_DMRS_per_PRB in the scheduled duration
· Xoh = accounts for overhead from CSI-RS, CORESET, etc. One value for UL, one for DL.
· Option 1: Xoh is fixed (e.g. =0 for UL and =12 for DL)
· Option 2: Xoh is semi-statically determined
· Option 3: Xoh is dynamically indicated by the DCI, possibly in combination with semi-static signaling
· Quantize X into one of a predefined set of values, resulting in Y
· FFS: [4-8, 14] values, should allow for reasonable accuracy for all transmission durations, may depend on the number of scheduled symbols
· FFS: floor, ceiling or some other quantization
· Note: quantization may not be needed for option 1 and 2 above
· FFS: Quantization step should ensure the same TB size can be obtained between transmission and retransmission, irrespective of the number of layers used for the retransmission. otherwise Xd has to be independent of the number of layers
· Obtain the actual TB size from the intermediate number of information bits according to the channel coding decisions



